Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGG.- VI SEMESTER-EXAMINATION - MAY/JUNE- 2012

Subject code: 361903/2361903 Date: 28/05/2012
Subject Name: INDUSTRIAL ENGINEERING

Time: 10:30 am - 01:00 pm Total Marks: 70
Instructions:
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Q.3

Q.3

Q.4

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic

(@)
(b)

1. Define : Method study, Process chart and Standard time.
2. Explain methods of increasing productivity.
Draw the symbols used in process charts. Explain Outline Process Chart
with some illustration.
1. State any 6 Therbligs out of 18 by their specific name and
symbol.
2. What is Job Analysis ? Explain job analysis worksheet.

A stopwatch time study was carried out by an Industrial Engineer for
manufacturing a mechanical component in a workshop. The observations
were noted as under.

Loading time : 1.8 min. Machining time : 7.2 min.

Unloading time : 0.6 min.  Inspection time : 0.4 min.

Overall rating of cycle : 90%  Allowance : 10%

Calculate (i) Total observed time (ii) Basic time (iii) Standard time (iv)
Total no. of pieces produced in 12 hrs. shift.

OR
1. Explain the basic procedure for work measurement.
2. What do you mean by wage plan? Give the characteristics of good
wage plan.

. Differentiate between Quality Control and Inspection.
. Draw the Normal distribution curve and state their applicability.
. Describe various reliability tests.
. Explain Producer’s risk and Consumer’s risk.
OR
. Which are three laws of probability? Explain any one.
. Define standard deviation giving its formula.
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. State factors affecting and improving reliability.
. Explain Double Sampling plan by neat diagram.

[\

1. Explain the difference between defect and defective.

2 In an electric circuit of medical device, three resistances of 125 Q, 200

Q & 600 Q are connected in series. Their deviations are 3 Q, 4 Q and 12

Q respectively. Calculate total resistance of circuit and its tolerance limit

considering six sigma limits.

Describe the method of drawing variable quality chart ( X bar — R chart)
OR
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1. Give the concept of Process capability.
2. What is statistical tolerencing? Explain the principle behind it.

No. of defective Spark plugs for ten samples are 4,3,4,5,3,4,5,3,5,4 in

sample size of 100. Selecting suitable control chart, find upper control
limit & lower control limit. Also give your comment either process is

under control or not.

1. What is Ergonomics? Which are the objectives of Ergonomics?
2. What is T.Q.C.? State the stages of Total Quality Control.

Write down a short not on 1.S.0.

OR

1. What are the effects of illumination on workplace and worker?

2. Compare T.Q.M. with Re-engineering.
Write down a short note on Just In Time.
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